الاحياء:

Pepsin enzyme digest:
Lipids
Protein ⭐
Sugar

Cattles are:
Omnivorous 
Carnivores 
Herbivores ⭐

Esophagus connects between:
Pharynx and stomach ⭐

Digestion and absorption occurs in:
Stomach 
Small intestine ⭐
Large intestine 

In tissues the blood :
Take co2 and drops o2⭐
Take o2 and drops co2
Drop co2 and o2

Trachea branches into ...... branches before reaching the lungs:
One
Two⭐
Three
Four 

Which molecule does NOT pass easily:
O2
CO2
Protein ⭐
Water

Aquaporins are:
Transport protein ⭐

في سؤال ما افتكر الصيغه مزبوط
In active transport uses:
Mitochondria ⭐
Cell membrane 
Nucleus 

Energy currency of cell:
ATP⭐

Hydrolysis of ATP:
Phosphate 
Sugar
ADP⭐

Photo autotrophs is:
Fungi
Animal
Bacteria 
Green plants⭐

Caretenoids :
Absorb excessive light⭐

In photosynthesis water is ....... to o2:
Reduce
Oxidate⭐

Light independent occurs in:
Stoma
Stroma⭐
Thylakoids 
Granum
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